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QUESTION 1

What two debugging levels can a virtual machine be configured to? (Choose two.) 

A. Trivia 

B. Statistics 

C. Debugging 

D. Verbose 

Correct Answer: BC 

 

QUESTION 2

After deploying the vCenter Server Appliance, an administrator can log into the vSphere Web Client as
"administrator@vSphere.local", but not with Active Directory domain credentials. 

Which action will troubleshoot this? 

A. Create a domain group named "esxadmins" and add the domain account to it. 

B. Add the Active Directory domain as a Single Sign-On identity source. 

C. Change the Active Directory account password to match administrator@vSphere.local" password. 

D. Create a child domain named "vSphere.local". 

Correct Answer: B 

 

QUESTION 3

An ESXi host\\'s VMCA-Signed certificate has expired. How can the certificate be renewed? 

A. In the vSphere Web Client, browse to the host in question. Click the Manage tab and select settings. 

Select System and click Certificate, then click the Renew button. 

B. In the vSphere Web Client, browse to the host in question. Click the Manage tab and select settings. Select System
and click Certificate, then click the Refresh CA Certificates button. 

C. Run the command /sbin/generate-certificates on the affected host. 

D. Disconnect the host from vCenter Server and reconnect it. 

Correct Answer: D 

You can renew your certificates when they are about to expire, or if you want to provision the host with a new certificate
for other reasons. If the certificate is already expired, you must disconnect the host and reconnect it. 
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QUESTION 4

A vSphere administrator upgraded vCenter Server (VC) from version 5.5 to 6.5. Existing VMFS5 datastores
consumption is 75% full. All of the ESXi hosts have been upgraded to version 6.5. Existing datastores have not yet been
upgraded. 

Which is VMware\\'s recommended approach to upgrading each VMFS5 datastore to VMFS6? 

A. The option to upgrade datastores to VMFS6 is only available during the ESXi host upgrade process. 

B. Log on one ESXi host at a time using vSphere 6.5 Windows Client. Navigate to the datastores view. Right-click on
the VMFS5 datastore, and then select upgrade to VMFS6. 

C. Log on to VC using vSphere 6.5 Web Client. Navigate to the datastores view. Right-click on the VMFS5 datastore,
and then select upgrade to VMFS6. 

D. Log on to VC using vSphere 6.5 Web Client. Create a VMFS6 datastore on a new LUN.Use storage vMotion to
migrate the data to the new datastore. 

Correct Answer: D 

Perform version check for the vCenter Server and all ESX hosts. Note: All ESXi hosts and vCenter Server 

must be of vSphere 6.5. Do not proceed if any one of ESXi hosts is not vSphere 6.5. Proceeding further 

means business continuity loss and the new datastore is not visible in old ESX hosts. Perform all pre 

checks for free space availability on datastore DS-2. Available space on DS-2 must be equal or more than 

the datastore DS-1 space. 

Ensure that the datastore DS-2 is VMFS 6 type. 

Prepare list of all virtual machines in the vCenter Server\\'s inventory that are hosted on datastore DS-1. 

Evacuate the datastore DS-1. For this, migrate all the virtual machines running from datastore DS-1 to 

datastore DS-2. Storage vMotion operations are performed on these virtual machines. 

Perform one migration at a time to avoid disrupting the performance of remaining datacenter entities. Keep 

track of any migration failures, if any, re-trigger the migration for those virtual machines. 

Ensure that datastore DS-1 is empty by listing files on this datastore. Note: Proceed further only if 

datastore DS-1 is empty. 

Unmount datastore DS-1 from all ESX hosts. 

Delete datastore DS-1. 

Create a new datastore with the VMFS 6 filesystem using the same lun. For example, DS- 1. 

Trigger a storage rescan operation on all hosts and wait for few minutes for this operation to complete. 
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Move all virtual machines back to datastore DS-1 from datastore DS-2 by performing storage vMotion 

operation. It is suggested to migrate one virtual machine at a time. Keep track of any migration failures, if 

any, re-trigger migration for those virtual machines. 

 

QUESTION 5

An administrator has a large boot from SAN cluster and wants to ensure consistent configuration by using host profiles.
What special considerations are required for boot from SAN hosts? 

A. Host profiles are incompatible with boot from SAN hosts. 

B. Change the "Device is shared clusterwide" setting to "false" in the host profile. 

C. Verify that the boot LUN is correctly identified as the boot device in the host profile. 

D. The boot from SAN device must report as a local device. 

Correct Answer: C 

 

QUESTION 6

What configuration option would ensure that a virtual NUMA topology is defined on VMs having more than eight virtual
CPUs? 

A. cupid.coresPerSocket 

B. numa.vcpu.maxPerVirtualNode 

C. numa.vcpu.min 

D. numa.vcpu.followcoresocket 

Correct Answer: B 

 

QUESTION 7

In network troubleshooting it is important to know what upstream switch the ESXi host is connected to. 

Which two features does ESXi provide to help identify the upstream switch? (Choose two.) 

A. DPM 

B. Promiscuous mode 

C. LLDP 

D. CDP 

Correct Answer: CD 

2V0-622D PDF Dumps | 2V0-622D Practice Test | 2V0-622D Exam Questions                                4 / 7

https://www.leads4pass.com/2v0-622d.html
https://www.leads4pass.com/2v0-622d.html
https://www.leads4pass.com/2v0-622d.html


https://www.leads4pass.com/2v0-622d.html
2024 Latest leads4pass 2V0-622D PDF and VCE dumps Download

 

QUESTION 8

Which two options are available for an administrator to enable encrypted vMotion on a virtual machine? (Choose two.) 

A. CHAP 

B. High Priority 

C. Enable 

D. Required 

E. Opportunistic 

Correct Answer: DE 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vcenterhost.doc/ GUID-
E50591C6-30DB-4191-934E-A1E890C07FB1.html 

 

QUESTION 9

Which two types of iSCSI adapters require VMkernel networking configuration? (Choose two.) 

A. software 

B. in-guest 

C. independent hardware 

D. dependent hardware 

Correct Answer: AD 

 

QUESTION 10

Which three conditions could result in VMware Flash Read Cache being unable to claim a disk? (Choose three.) 

A. The disk is not listed in the VMware hardware compatibility guide. 

B. The disk is not detected as local. 

C. The disk is not detected as an SSD. 

D. The disk is in use by VMFS. 

Correct Answer: BCD 

 

QUESTION 11
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Which two choices are applicable to vSphere Availability? (Choose two.) 

A. Admission Control 

B. Heartbeat Datastores 

C. VM Startup/Shutdown 

D. Power Management 

Correct Answer: AB 

 

QUESTION 12

What two enhancements are in VMFS6 but not in VMFS5? (Choose two.) 

A. Support for 4k native disks 

B. Support for 512e disks 

C. GPT storage device partitioning 

D. Automatic space reclamation 

Correct Answer: BD 

http://virtualization24x7.blogspot.com/2018/01/vmfs5-vs- vmfs6.html?
utm_source=feedburnerandutm_medium=feedandutm_campaign=Feed%3A+Virtua lization24x7+%
28Virtualization24x7%29 

 

QUESTION 13

An administrator is trying to add a new virtual disk of 3TB to a virtual machine on a recently upgraded ESXi 

6.x host, but receives this error: 

The disk capacity entered was not a properly formed number or was out of range. It has been replaced with the nearest
acceptable value. 

How can the new virtual disk be added to the virtual machine? 

A. Upgrade the VMFS datastore. 

B. Change the VMFS datastore block size to 8MB. 

C. Move the virtual machine to a datastore with free space. 

D. Use vmkfstools to upgrade to VMFS6. 

Correct Answer: B 
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QUESTION 14

What is the result of a "Consolidate" action on a virtual machine? 

A. All snapshots on the virtual machines will be deleted. 

B. The virtual machine will be reverted to its last snapshot. 

C. Redundant delta disks will be combined and deleted. 

D. A new snapshot with memory state will be created. 

Correct Answer: C 

 

QUESTION 15

How can a vSphere administrator ensure that a set of virtual machines run on different hosts in a DRS cluster? 

A. Add the VMs to a vApp. 

B. Use a VM-Host affinity rule. 

C. Place the VMs in different folders. 

D. Use a VM-VM affinity rule. 

Correct Answer: D 
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